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Ho A e_c(\)a'iﬂovxm =) ’2,°3f'ac&<> Wn A la Asclvo 2 avro = CAR .

(4D ASo: l-zc(\/a’t\OV\Q ca@BeAsNca ha 2 Solvihows realh distinte
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S SROPOUS 2 PASE:

(4D S conadaa L‘ LQuahond OMOGRNQA. ASSO olod?\/ oWl ro
any D \o'\d/’\' <y =0
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Metodo &R Sommalantza

Questo watodo & MSa PRC Acazare la SSWrowne paricolare dpCr D
A\ equations-

a"&” “ \o/%/*‘ C/\‘I. = *PCX)-
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— s 2 (A—1D =0 — |m=e v T

U '\v\{.eﬁraka oje.vxo_raul d&L\,-Zc[UoLE\ov\o_ OO RN Py

O-X - x X
MolXD= ¢ € + e = |l + C e

= (30 x>

<Px_ e’

—
= =)

“el'x = Q)(

Detepmivmanno (A olvinove Far“\'\chaPe @A 1| mafodo &

&w\igl\‘aw\‘lz(-.
o- \
Lexy= x = 7% x —> poxd>=x A gado |
L)
PR pex> A=0O

% =D AT
N= , M=)
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